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General Instructions :

(i) The question paper comprises of two sections, A and B. You are
to attempt both the sections.

(ii)  All questions are compulsory.

(iii)  All questions of Section A and all questions of Section B are to be
attempted separately.

(iv)  Question numbers 1 to 3 in Section A are one-mark questions.
These are to be answered in one word or one sentence.

(v) Question numbers 4 to 7 in Section A are two-mark questions.

These are to be answered in about 30 words each.



(vi)  Question numbers 8 to 19 in Section A are three-mark questions.

These are to be answered in about 50 words each.

(vii)  Question numbers 20 to 24 in Section A are five-mark questions.

These are to be answered in about 70 words each.

(viii) Question numbers 25 to 42 in Section B are multiple choice
questions based on practical skills. Each question is a one-mark
question. You are to select one most appropriate response out of

the four provided to you.

T A

SECTION A

1. SMYHS TEd arofl § Qfas dfeaal hl 9@ fIRaw | 39 dfoadl sl &
FEd © 1

Write the number of horizontal rows in the modern periodic table. What are

these rows called ?

2. IR § WM 1 0 S aret a1 | o AW fakae | 1

Name the information source for making proteins in the cells.

3. 3 3 UR A G IR SR gIE I S GHIEEl o a9 FeEd o
fegdm 1

List two measures that you would suggest for the better management of

water resources.
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3Teifien S sl =R ot oAt g smmsu |

List four modes of asexual reproduction.

3t U1 o G eT o THI=R TR} stmufaa foror o @ gdur & wafda g9
T} ToRtor 1 T ewii o foru fortor smw dife | 38 sT@ W AddT hivr 37t
A 10T 3feRd HIfST |

Draw a ray diagram to show the path of the reflected ray corresponding to
an incident ray which is directed parallel to the principal axis of a convex

mirror. Mark on it the angle of incidence and the angle of reflection.

TR ¥ % F© TAl H @liear o fog wifcrefi= i Aferai & 3w o ey
ST TR R | W i ® 7 aiforefi= ot Afort < g | S steran gt Afori
IYANT o T4 ATl hi G SR |

In some states of our country there is a ban on the use of polythene bags for
shopping. Why ? List three advantages of using jute or cloth bags over

polythene bags.

IS i o 0 § 379 B ATel] o aEeAnet it g IR | 3 IHeni o
T o oTT Uk garma € |

List three problems which arise due to construction of big dams. Suggest a

solution of these problems.



8. TR Wrama S o g QU =ed, wiesdl qon wel, 3R WiE de H ol dige
AT o ITafre fofes AmEneT § 9T S € | R0 9o SRen shifsie for ua
fore TR ST ol BT ® 7 3

“Our food grains such as wheat and rice, the vegetables and fruits and even
meat are found to contain varying amounts of pesticide residues.” State the

reason to explain how and why it happens ?

9.  HHal 5 WM I ST arelt TGy i =Rt i = shne | = e
1 3T forelt aftam & waree wd TgfE ol Ioaed 9§ H qaifad war g ? 3

List any four methods of contraception used by humans. How does their

use have a direct effect on the health and prosperity of a family ?

10.  (a) et g0 & 39-39 AT & W fafae S o e wa @ S sigett |

frfaftaa wt gr fre sma €
(i I (i) I
(i) TSR, (iv) 308
(b) ot UTEHl | gedi ok i forfae | 3

(a)  Write the names of those parts of a flower which serve the same

function as the following do in the animals :
(1) testis, (ii))  sperm,
(ii1))  ovary, (iv) egg

(b)  State the function of flowers in the flowering plants.

31/172 5 [P.T.O.
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(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

! yaTo ST for ufemrt s foerma wigai @ gen 2 |

Fiel, ATFeIgH, AT 3T Fewfnat § off 317g 6l AT Bl 2 |
BH 3 Sl ol $eh! AT@T o HATUR T Teh €1 Tfed L ohd & ¢ A9
I I T dfgad giE A |

Give the evidence that the birds have evolved from reptiles.

Insects, octopus, planaria and vertebrates possess eyes. Can we
group these animals together on the basis of eyes that they possess ?

Justify your answer giving reason.

Hed o T TAN H T T ok Gre} A1 S FS o Urei o T FRT
AT | SRV <d U 36k F, a1 F, Hafaai o Jeor ferfiae |

Ted T A o Well | 19 T o foA =1 T S & srfafer o=
Torei <1 formartelt (forpeddt) tequrt <t g=h sTU |

Mendel crossed tall pea plants with dwarf pea plants in his
experiment. Write his observations giving reasons on the F; and F,

generations.

List any two contrasting characters other than height that Mendel

used in his experiments in pea plants.



13. YIS o 319aad o fam ferflau | =fe fata 8 e 6 =t 3x108 ms™' R, @
39 Hiegw, forent fuer saadaien 1.5 8, § Tehrel shl =Tel i ehifsig | 3

State the laws of refraction of light. If the speed of light in vacuum is
3x10° ms™', find the speed of light in a medium of absolute refractive

index 1.5.

14. 1S AR g7 40 ecm g R @ u8 W -1 S7aei w1 wfdferss sman 2
(i)  wdor 1 SR ferfae |
(i) o aTet fdfora il Rfd w2 7
(iti) foreat 1 qdor @ g ferai 8 7

(v) 39 Y07 H Yfdfers ST 2314 o T fomtor e difer | 3

A spherical mirror produces an image of magnification —1 on a screen

placed at a distance of 40 cm from the mirror :

(1) Write the type of mirror.

(1))  What is the nature of the image formed ?

(iii)) How far is the object located from the mirror ?

(iv)  Draw the ray diagram to show the image formation in this case.

31/172 7 [P.T.O.
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T arEqfaes ey ¥ &1 fiee qd 389 g1 a1 ardfdes I | &l e geed
ok I} foETs <aq1 WaT § ? AHIfohd TR <hl TRl § HHEST |

Why does the sun seem to rise two minutes before the actual sunrise and set
two minutes after the actual sunset ? Explain with the help of labelled

diagram.

BTESIRTeHT oht forelt et sfret a1 A o7 a1 9 forfae fomes ar eregieH
! Heho SATNTRAT 81 Teh | ToRet Teparq afwfsran & o7 stmawaek wmal @l
3ecid L g IHeHT TEH(oh TR for@sht 38eh SATYIel W@ 3cIal
AT} T oo HITST |

Write the name and general formula of a chain of hydrocarbons in which an
addition reaction with hydrogen can take place. Stating the essential
conditions required for an addition reaction to occur write the chemical

equation giving the name of the reactant and the product of such a reaction.

e -AMfRT  yehrricnss w1 319 fiflau | tenleial, Weeemel, HidHi
3R T ToTeh STl H IUMCIT TehTIicHeh THa! o ¥ TeARa |

State the meaning of the functional group in an organic compound. Write
the formula of the functional group present in alcohols, aldehydes, ketones

and carboxylic acids.



18. (a) = feuu ue i uitymn ferfge :
(i) TAISTRAT, (ii) TTHTY] TS
(b)  IMMY(H T TR 6 TRt 3Tad H A% ° 6 AR SIH W dcal hl
TRATSTeRAT Ud AT e | ford JehR ufiaE 2id & 7 3

(a)  Define the following terms :
(i) Valency; (i1) Atomic size

(b)  How do the valency and the atomic size of the elements vary while

going from left to right along a period in the modern periodic table ?

19. T d@El A’ (T &A1 17) R B’ (T T&AT 19) T fo=R o 5T :
(i) AT A T 3 deal ol STYHe e arel # feafe &1 3eor@
e |
(i) ‘A’ 3T ‘B’ o AN T o Afirer o1 g foafaw |
(iii) 39 AR h SoFH-Tog T 1 ARG THIST AU $4 IET qcdl oh
S S STl 3ATeY Y TR ST Sool@ ST | 3

Consider two elements ‘A’ (Atomic number 17) and ‘B’ (Atomic

number 19) :

(1) Write the positions of these elements in the modern periodic table
giving justification.

(i)  Write the formula of the compound formed when ‘A’ combines with
GB.Q

(iii)  Draw the electron dot structure of the compound and state the nature

of the bond formed between the two elements.

31/172 9 [P.T.O.
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N Figd AT HI foh Tar i & fof el 9 @1 C* gme iR T & 8
T ST TRaT &, Tg Teadist AT 41T © | R0 died 98 off 3eo@
() TrgaFFacsigad?

(i) Y TTTh T FIUTTH It 1 2ld o 7

State the reason why carbon can neither form C* cations nor C* anions,
but forms covalent compounds. Also state reasons to explain why covalent

compounds :
(1) are bad conductors of electricity ?

(i)  have low melting and boiling points ?

(a) Y HIET S aF o 39-39 91 i 919 fafau

() S ST Icqd AT R,

(i) el 3Tvg 3 1] 1 T Bl 1,
(i)  STet g (Ffa srve) wenfia & smar 2 |
(b)  H&Y T Ui AT o Tfid B4 o IT=ITd JIoST 1 T BT § |
(a)  Name the respective part of human female reproductive system :
(1) that produces eggs,
(i)  where fusion of egg and sperm takes place, and
(ii1))  where zygote gets implanted.

(b)  Describe in brief what happens to the zygote after it gets implanted.

10



22, (a)  ehfowlt qi 39T Iodi H Wedish o1 Uoh-Teh SQTEU GIfeiT |
(b)  Torelt qsu § Fu=F o 9¥ETd B ATl Ui 1 S i |

(c) iy yosh Tt Wil <t =afe=n st DNA Wfcafaat s adieH it 8, T
ff 38 DNA 1 |77 fod 8 @di @ 7 5

(a)  Give one example each of a unisexual and a bisexual flower.
(b)  Mention the changes a flower undergoes after fertilization.

(c) How does the amount of DNA remain constant though each new

generation is a combination of DNA copies of two individuals ?

23. (a) MYk AT A UG Q1T hi G SEY | 57 ST ol NI L 6
U feflau | 2

(b) foermasiia 29 & T 45 W@ Safad wiHar-Fuar @ difeq 21 g6l
T ¥ difed TR 30 AT@ s I S 12 99 8 HH Y % 2, THAEH
FRT TG ShIT-T o TAIor & Yk R ST Tehell 2 | SATYhI 311 & BT
T IR foFd TR T ol MHATTT ek 36 q24 o fow § AR 8 SRy
I L Fhd 27 3

(a)  List three common refractive defects of vision. Suggest the way of

correcting these defects.

(b)  About 45 lac people in the developing countries are suffering from
corneal blindness. About 30 lac children below the age of 12 years
suffering from this defect can be cured by replacing the defective
cornea with the cornea of a donated eye. How and why can students
of your age involve themselves to create awareness about this fact

among people ?

31/172 11 [P.T.O.
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i B fohel] YU 1 ITAM Hleh HHeT! sl SATAT & Jldfers Sl -
TRITRITEAT sh1 SR T F&ifU oA = & |

(a)

(b)

(©)

(d)

39 forE TohR o YT 1 TR ShiAT Y TR = ?

TYU i BIRH G 7 ok TSI H 39 HIHe! I ST i 90 § TRt
T AT 11T drfes <o 1 faaftia gfdfsrs g gt ?

3G ThU0T | Fieiforsl s &1+ o foru fomor e it |

FIT I BT FET UV T ITNT ek 36T SIIR R Wi sl STt
BT Tfafers T&fta s Tehat & ? IS 19kt S B ? @1 9 v fem
TR R Hehell © 3R Afe T ® @ 9% WHT i T T Tehar, @R
Ioei@ i |

A student wants to project the image of a candle flame on the walls of

school laboratory by using a mirror.

(a)

(b)

(c)

(d)

Which type of mirror should he use and why ?

At what distance in terms of focal length f” of the mirror should he

place the candle flame so as to get the magnified image on the wall ?

Draw a ray diagram to show the formation of image in this case.

Can he use this mirror to project a diminished image of the candle
flame on the same wall ? State ‘how’ if your answer is ‘yes’ and

‘why not’ if your answer is ‘no.’

12
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SECTION B

25. T& B@ A fGu U o9 I wRd @ F, 1 R o fon Tt gy T @
yfcforesr ud wx me forarm | 35k etk = ufdforsr il St A & avermd 30 T
31 oig, fSraeh! wiehd g F, oft, 3ot 3ueh g1 39t forret st 3eft U8 W wiskfia
T o U her | 39 B 3 I g T fora o1 ue w ufafers g @ & fou
3G T HI IS H G A ST ULT | 3H B h 38 U ok YR W g ey
feRTetT ST Feha ® for 3gen! fou Tu o <

(A) Ida 9 qA F, <F,

(B) IAAYTAF, <F,

(C) ITAITAAF, >F, I

(D) ¥fadd 4 AATF, > F, 1
A student has obtained an image of a distant object on a screen to determine

the focal length F; of the given lens. His teacher after checking the image,

gave him another lens of focal length F, and asked to focus the same object

on the same screen. The student found that to obtain a sharp image he has

to move the lens away from the screen. From this finding we may conclude

that both the lenses given to the student were :
(A) Concaveand F; <F,

(B) Convex and F, < F,

(C) ConvexandF,>F,

(D) Concaveand F, > F,

31/172 13 [P.T.O.
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forell B o aqa UV I BlRE g I A ok faQ Rl gy o @
Tfdfers a8 o form ® | afe 389 foral & w9 # wieisiifa wdiea foreht ot wwaq
&I AT ¢ df feAfaifad & @ & a1 T fashed 599 aret wfdfersr 1 @t avfa
FATR :

(A)

(B)

©

(D)

T, 3T 3R AT T T BieT Tfdfers
aredfesh, Eiem TR Terst T o Biet Ao
TR, 3T 3T AT TT T BT Tiefer

T, e 3R et 1 o ot afafors

A student has obtained the image of a distant object with a concave mirror

to determine its focal length. If he has selected a well illuminated red

building as object, which of the following correctly describes the features

of the image formed ?

(A)

(B)

©

(D)

Virtual, inverted, diminished image in red shade

Real, erect, diminished image in pink shade

Real, inverted, diminished image in red shade

Virtual, erect, enlarged image in red shade

14



27. Tordll o 33U <\ g0 Rt Saen =t faafiia gfafors 98 wouma s o R
gfafers sF o1 deaedt o @ dien & fou = & wit #iF o 9 fo,
ek 319 o Tw=Td 9 SR ¢ &, 39 BT &l I =11eT 7

I 1l

I v

(A) I3
(B) L3RI
(C) MRV
(D) 13RI

31/172 15

[P.T.O.
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A student has obtained a magnified image of a flame on a screen using a
convex lens. To draw the corresponding ray diagram, to show the image
formation, which of the following two rays whose paths after refraction are

shown he should select ?

11 IV

(A) TandIl
(B) IIandIII
(C) MIandIV

(D) TandIII

16



28. forelt B @ 30 Wigk A 39 @@ o Yoo § fafva fom-gfai & fog
whfersr-gfat 31 s % foe el | 384 @l wragrrRn stad ge s TR

IR 379 Sgqor el &t TR et # e fohu
Y AT for A1 gl (cm) fcrferest &l g (cm)
1 60 15
2 48 16
3 36 21
4 24 24
5 18 36
6 16 48

&0 HION <l ST Rt R TR1ereh o 18 et foh we Mot # widfors -3l Aie
H e B TR g | 39 Uk YeIUl hl hE ST S € 7 el whafer-gd @@t

BRIl

(A) 2
B) 3
©) 5

D) 6

31/172
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A student was asked by his teacher to find the image distance for various
object distances in case of a given convex lens. He performed the
experiment with all precautions and noted down his observations in the

following table :

S. No. Object distance Image distance
(cm) (cm)
1 60 15
2 48 16
3 36 21
4 24 24
5 18 36
6 16 48

After checking the observation table the teacher pointed out that there is a
mistake in recording the image distance in one of the observations. Find the

serial number of the observation having faulty image distance.

A) 2
(B) 3
€ 5
D) 6

31/172 18
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hig BT FId oh IH § oA It ot SohTeT Totor o6 991 31 391 aTet ot o

Teq07 oL (&1 2 | 98 B I8 feend fepreim fop gedes st shior o fora weerst

foror ganclt 2

(A)  Tron 4 v a au i it 3R qen fosw 9 friq 8 o
e 9

(B) Tirem ® yaw sed ww afyrersr @ g aon firsw @ frla =ia v stfvrers
I 3,

(C) firsm 8 wow a3 forsw @ frfa S0 gm0 & fefaat 8 stfvrers
qg,
(D) rsa o yaw o 31 firew @ friq gid g9 <1 &) feufaat o sifvers
&l 3R 1

A student is observing the diagram showing the path of a ray of light
passing through a glass prism. He would find that for all angles of

incidence the ray of light bends :

(A) towards the normal while entering into the prism and away from the

normal while emerging out of the prism,

(B) away from the normal while entering into the prism and towards the

normal while emerging out of the prism,

(C) away from the normal while entering as well as while emerging out

of the prism,

(D) towards the normal while entering as well as while emerging out of

the prism.

19 [P.T.O.



30. = fom o = o fosw @ oA areft fordt et foRtor Rt vt g R

3g fo o fors| =i, 9 =i, Tiq sior R forem ivn e forees g
frefta fpg mu & ?

(A) O,Y,Z3MRN,
(B) P,Y,M3RZ,
©) O,X,M3WZ,

(D) P,X,Z3WN

The path of a ray of light passing through a glass prism is shown below :

31/172 20
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In this diagram the angle of prism, angle of incidence, angle of emergence
and angle of deviation respectively have been represented

by :

(A) O,Y,ZandN,
(B) P,Y,MandZ,
© O,X,MandZ,

(D) P,X,Zand N

forelt red o BT A T % STATRR WId § S aTe] foRet JeRreT foRtur
9 RRIA AT TANT o AR W A fou e Frehet 6 @ forg freendd 1 @t
HIAT

(A)  3T9dH vl TTid shIT & &2 2,

(B) frld o FTade o @ Bl R,

(C) fTonfa foreor sruafda fertor o wor= 2,

(D) 3mafad fereor dem fota fertor wah-gat & TETR £ |

On the basis of their experiment, “To trace the path of a ray of light through

a rectangular glass slab,” students of a class arrived at which one of the

following conclusions :

(A)  Angle of incidence is greater than the angle of emergence,
(B)  Angle of emergence is smaller than the angle of refraction,
(C)  Emergent ray is parallel to the refracted ray,

(D) Incident ray and emergent ray are parallel to each other.

21 [P.T.O.



32. ' o SAEATRR WA § TeRA arel! foRet eRret foRtur s vt STRfEd T
SRR 1 A ok Tore = gt TR SR SR seeensi 1, 10, 1M1 3R IV @
AT FHIFT |

q PI
P,
P, \
I 11
P,
P,
P, P,
11 A%

0 O foha et § garaw aiomd ITe g s @rEEt ® | (P 99T P, SAfad
fortor we e wfY @1 foet < feurfaat €) 7

A 1
B) I
(©) I
D) 1v

31/172 22



Study the following four experimental set-ups I, II, III and IV for the

experiment, “To trace the path of a ray of light through a rectangular glass

slab.”
q P1 >
1
b P2 P2

1 I

P,
P,
P, P,
111 v

Which of the marked set-ups is likely to give best results (P, and P, are the

positions of pins fixed on the incident ray) ?

A) 1
B) 1
(C) I
D) 1V

31/172 23 [P.T.O.



33,  3TT9eh f31eTeh o SATTY = o SIS ok YUT o TSt 9T o 3793 o o foTq e
2 1 39 W % foT ure fohe St aret = e few e €

I =4 % sl ot o ofar § fopmest us Ta aek ofim & i |

. i <fiS ot srest 3Tek fafira a6 Seror i |

. od-feor o 38 = o & it i |

Iv. Afafaa it s e difsm |

V. i =l foret it it U § g T T o T vE € sie dif |
T TN A T FA

(A) ILLV,IV,II

(B) ILLILIV,V

(C) MLIV,V,LII

(D) MLLIV,V,II

You are asked by your teacher to study the different parts of an embryo of a

gram seed. Given below are the steps to be followed for the experiment :
L. Soak the gram seeds in plain water and keep them overnight.

II. Cut open the soaked seed and observe its different parts.

IlI.  Take some dry gram seeds in a petri dish.

IV.  Drain the excess water.

V. Cover the soaked seeds with a wet cotton cloth and leave them for a

day.
The correct sequence of these steps is :
(A 1LLV, IV, 11
B) ULLILIV,V
(©) HOLIV,V,L1I
(b) HOLLIV,V, I

31/172 24



34. WRBE P, Q, R 3R S 7 = fIU 7T 7M1 o == I -3 THET

odqr .

P Tigeh o STUTE TR fSuehed! o 3WITE

Q  u&ft & |UE IR gL & I

R 4% 99 iR fadeft & 9@

S uafl % U@ IR THEE % U@

FHA R A DA AL E

(A) P3RQ (B) QB3R

(C) R3S (D) P3RS 1

Four students P, Q, R and S differently reported the following set of organs

to be analogous :

P. Forelimb of a frog and forelimb of a lizard

Q. Forelimb of a bird and forelimb of a human

R. Wings of a parrot and wings of a butterfly

S. Wings of a bird and wings of a bat

The two students who have reported correctly are :

(A) PandQ (B) QandR
(C©) RandS (D) PandS

35. fafaftga o afesr 1 w9 @1 T Siier gqsitd GEHTST i 3SR 2 7
(A) 3T TR TRl (B) TSR 37 Heft
(C) TSR 3R 2q1eT (D)  THTS 3R Tt 1
Which one of the following pairs of vegetables is an example of
homologous structures :
(A) Potato and sweet potato (B)  Carrot and radish

(C) Carrot and tomato (D) Tomato and radish

31/172 25 [P.T.O.



36. 34 ot i g difse o offee o qepera i wishan qwifh w7 |

°0 ® .6
) .
qgaa e&@ @@5
[+) © @65
11

I 11 v

(A) I ISR
(B) IL ISR IV
(C) LUV

(D) I IV 3R 1

Identify the figures showing the process of budding in yeast.

00 ® .G

) 6o

< g %Y G;:-jg @ G &
1 11 III v

(A) T, T and I

(B) II I and IV

(C©) LHIandIV

(D) TILIVand I

31/172 26



37. = fom g svdfien o fegved & fafim =or esfu o @ -
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(A) LIV,ILILV

(B) LILIV,ILV

(©) LILIV,ILV

(D) LILILIV,V 1

Study the following diagrams showing various stages of binary fission in

Amoeba :

& @es

The correct sequence of these diagrams should be :
(A) LIV, ILI,V
(B) LILIV, I,V
©) LILIV, 1L,V

(Db) LILOLIV,V
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g foanelf 9’ wEAl™i P, Q, R @91 S H, Y& # TN 6mL THd Sid
AR, T Wl H 9R fafis Seon st ame a6 § ot § | 98 qETel
‘P’ H Tifead Flrge, ‘Q° H UM Fase, ‘R’ U hicdsm Faiise at “S’
7§ T FEEe 9 © | 39 9vETd 98 Yolsh T H 9 o foered
#H 10 3 STAR W@ I HAAId AT © | 98 Tl S a1 o
T TR (TRl gerd) oF ST g, i g 7

(A) PA=Q
(B) Q@R
(C) RaS
(D) Q@S

A student takes about 6 mL of distilled water in each of the four test tubes
P, Q, R and S, then dissolves an equal amount of four different salts namely
sodium chloride in ‘P’, potassium chloride in ‘Q’, calcium chloride in ‘R’
and magnesium chloride in ‘S’. He then adds 10 drops of soap solution to
each test tube and shakes its contents. The test tubes in which scum

(insoluble substance) is formed with soap are :

(A) PandQ
(B) QandR
(C) RandS
(D) QandS
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Fis B 9 WEAte= X, Y IR Z 4 o= swawn: |ifesam Feiniss, difead
TIESHATSE 3T TSI FHAH & AT faeta W &, Tk o TAHigh 30
FS Fc ST ¢ | 379 A TIHTg T ST o G I 98 Tesh @] o
@ o ke STardt foudt @man 7, @ o stean 9 wemelt (Weafkr) & 9@

o fere foudl gar St 8, ITe P H g AT ?

(A)

(B)

©

(D)

X 3y
Y 3 Z
X 3 7Z

*Had Z

A student adds a few drops of ethanoic acid to test tubes X, Y and Z

containing aqueous solutions of sodium chloride, sodium hydroxide and

sodium carbonate respectively. If he now brings a burning splinter near the

mouth of the test tubes immediately after adding the ethanoic acid in each

one of them, in which of the test tube or test tubes the flame gets

extinguished ?

(A)

(B)

(®)

(D)

Xand Y

Y and Z

X and Z

only Z
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g 3179 foreht et w2 mL Tgd ST W ©, | 99 07 § URAfesh ord

fiyetTemt, TEet! oht et feerre fismr =61 for B & fofe @ 2, ot o
5 TieIe o uv=ITa 3719 I8 equT il foh o T

(A)

(B)

©

D)

I qefl T HIE The TTAY S T R,

o o s faoed o9 T R,

T STt h1 Hag W UfHfesn ot o wa a9 A R, I

T UfYfeeh 3Tret i Tdg WX SToT ohl Tag o TR R |

When you add about 2 mL of acetic acid to a test tube containing an

equal amount of distilled water and leave the test tube to settle after

shaking its contents, then after about 5 minutes what will you observe in the

test tube :

(A) A white precipitate settling at its bottom,

(B) A clear colourless solution,

(C) A layer of water over the layer of acetic acid, or
(D) A layer of acetic acid over the layer of water.
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41.  TreHTR STIfsRAT 1 S1EEd A % ToTT YRt BH Hifedw eegiase 1 20%
et sa € 1 9 &1 T § e Tegiaamse it qufeat Se & i TveTd
39 faerm o1 ara A o forens 510 39 foetad o Tehfd o1 Tieger i dl 89 98
T et wend © fo 391 farerem =t s <t wifskan et g -

(A)  FeATEd e foretas e B |
(B) SIS qeT foaerae &ehia =i |

(C) TS} e farera steefta g, 3Teren

(D)  eTerdt qu foeree erefia g | 1

In order to study saponification reaction we first prepare 20% solution of
sodium hydroxide. If we record the temperature of this solution just after
adding sodium hydroxide flakes to water and also test its nature using

litmus, it may be concluded that the process of making this solution is :
(A) exothermic and the solution is alkaline.

(B)  endothermic and the solution is alkaline.

(C©) endothermic and the solution is acidic.

(D) exothermic and the solution is acidic.
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I T o ToTq AT ST 1 STea shid av forelt B 9 38
feen 3 sAferferan fasor § wemer Foek & F© A0 ™ 1 gge ) 5|

srfyferan & gremer 99k k1 = S I

(A)

(B)

©

(D)

TTSH shl SEHIAT i W LT,
T 1 STFATIAT Rl FHH FEAT,
T h! TS A il GHAT § g AT, AqaT

T o TF&T § TR HEAT |

While studying saponification reaction for the preparation of soap, the

teacher suggested to a student to add a small quantity of common salt to the

reaction mixture. The function of common salt in this reaction is to :

(A)

(B)

©

(D)

reduce the alkalinity of the soap,
reduce the acidity of the soap,
enhance the cleansing capacity of soap, or

favour precipitation of soap.
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